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Note: (i) Thercare in all 30 questions in this question paper. All questions are compulsory.
(i) Marks allocated to every question are indicated against it,
(iii) Question No. | is multiple choice type guestion. Question Nos. 2 to 6 are of one mark cach.

Question Nos. 7 to 15 are of twoe marks each. Quustion Nos. 16 to 24 are of three marks
each. Question Nos. 25 to 30 are of four marks each.
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Four options are given in each part of this question. Write the correct answer in your answer book —
(@) FUEO SAS B THEEAD ¥ T -
The chemical formula of common salt is ~
(1) NaCl (i) HCl (ii1) NaOll {iv) AHNO,

(@) fpsf frer @1 pH 71 7 €| I8 e 8 —

The pH of a solution is 7. This solution will be -

() seena (i) &g (i) SerEr (iv) 3 & Bid
Acidic Alkaline Neutral None of these

() frefafeg § § @ | ged 8 8 -

Which of the following is a plant hormone —

(i) sgfe (i) UrETe (i) TS (iv) TEerHEg e
Insulin Thyroxin Oeslrogen Cytokinin
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(g) wfoRm @1 "% § —

The unit of resistance 1s —

(i) @& (i) oM (iiy ity (iv) oTet
Volt Ohm Ampere Joule

($) UF e oI T BIEE X 20 TN T | o BT & £ —
‘The focal length of convex lens is 20 em. Power of the lens is —
() 2D (iiy —2D (iii) 43D (iv) =5D

&) e 1 gt g gRgRe ¥ 8 -
In tollowing, the conventional source of cnergy is -
(i) STael gum (i) ¥R St (iif) y@dag At (iv) e St

Fossil Fuels Solar Energy Geothermal Energy Nuclear Energy

4

2 favere siafdmar o1 U emsRer iy | 1

Give an example of displacement reaction.

3. U U] wEE ol sereRyr i, o dgm i § wifis g @ i
(Give an example ot animal hormone that secretes from pituntary gland.

1 13E gredly v ol gRNMT FIRT !
Defime electromagnetic induction. |

SO Fosiyada w1 Fum faiEg | 1
Write Sneli's taw of refraction.

6. 14 g s gidt b fafur & NS9 9=a gedt @ geen e ¥ ? 1

From wloch radiation radiated by Sun, the Ozone layver protects the earth ?

7. TGSt o qAET @7 ST @ wad RIS SRIGR [T | el U SYURT AT sy | 2
Write only chemical equation for the reaction of preparation of bleaching powder, Give its one

use also.

i
[

8. TEA T P AE 95T ® IngR W e difret o qpeete $ifve - ]+ 1=
On the basis ot nomenclature of carbon compounds, name the following compounds -

o HH I8!

| | | l

(H) H—C—C—C—Cl (@ H—-C=0

R
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9.

17.

URHTOT & (= o oTR sy | 2

Differentiate between Pollination and Fertilisation.

TR T2 7 A @ O | et @ qfier € 7 2
What is saliva ? What 1s its role in the digestion of food ?
97 # g w1 ol ek &9 gar 8 ? 2
How is the sex of child determined in human beings ?

 faepr o @ qegett @ W F ur eReT @y gt faRn S § 0w Sty | 2

Why is the (ungsten almost used as a filament of electric lamp ¥ Clarify.

ot =i o uiNY e e wR el @Rar € 7 9HEEY

What are the factors on which the resistance of a conductor depends ? Explain.

t.a

USRI & WACH W Y G T & 7 W B o 9 B Tuad vad afde g e ged w9
BT & 7 2
What do vou mean by spectrum of light 2 Which colour of spectrum deviates the most and which the

least

T e T et St gril & wur afutg § 7 v B U U SeEer e 2

Whal Is meant by renewable and non-renewable sources of energy 7 Give one example of each.

. SMfer arrad T @ B 7 SIRgiee Srad ARell HOWHE eI Sred T SR jae @i | 3

What ts modeen period faw ? Clarify the meaning of “groups’ and “periods’ in modern periedic table.

() freng @ B 7 g0d |1 SarseNel M1 g 2
What arc alloys ? Give its two example also.
(33) = il @ A garsy W gy # ga orEwen d urd)y G 8 !

Name two metals which are found in nature in the free state.

A4l (OR)

Ud AT X &l 9 Ui Y T ZH REAT B | Y UP FelRad WTamiae ueied 8 dais 7 IR &1 ue
ST AP 2 X, Y T 7 el gsaiag 3
Anon-metal X exists in two different forms Y and Z. Y is the hardest natural substance, whereas Z isa

good conductor of electricity. Identify X, Y and Z.
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18, T BldT 5 S (@ddl IRmAe FHeor fafay) — P1+1 = 3

What happens when (write only chemical equation) —
(@) forF = Afey eggaass o v @) o 2

7Zang reacts with sodium hydroxide.

@) = B I A BEA SIRRNASS 9 yaifed @ o &

Carbon dioxide gas 1s passed in lime water.

(1) R ®7 373°K T%F ™A faar S ¥

Zipsum 1s heated upto 373°K.

19. 99 @) siqaed e @ =77 3133 ok Swd Aefefeg w0t &7 getgy — 1Y4+1%%73
Draw longitudinal section of a flower and label tollowing parts in it —
(1) ERRRAE] (ii) afceny (.iif) ATTTITT
Anther Stigma Ovary

20. () amrdrg e STITadIg AR H T SR & ?
What arc the differences between aerobic and anaerobic respiration ?

(@) A gad THE & SULNT @) Gl 9a) &) ot & ? I

o

Why s the use of lodised salt advisable ?

21, AT WryH T9 @1 wWeo B aagy ot g9 fAefetEe am @ gutgd - 1% 1113
Draw a neat and clean diagram of human alimentary canal and label the following parts in it -
(i) sreETET (i) T@d (i) w1 a4
Stomach Liver large intestine
J1UAT (OR)

™ e

AT ¥4 = Dl W98 (7 98y g1 sad fAefafiag «17 @) sz —

Draw a neat and clean diagram of human respiratory system and label the following parts in it -

(i} U (ii)  wearg=rel] (i) =
Lung, Trachea Diaphragm
22. (@) v faga g 31 200 V- 100 W ifha 21 ggor yfev aqr gFm ? 1

An electric bulb is rated at 200 V- 100 W, What will be its resistance ?

(O]

(@) grawia e sl @ g1 o7 ferfy |

Write two propertics of magnetic field lines.
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23015 9 eyl grel Srced HOT W 20 NET @ O w4 ) we) avg wel) ¥ wiafae ol Rery

FIeh @ WAl Fars | A

A4 amn long objeetis placed at a distance 0f 20 e [rom a concave mirror of focal lenpth 15 em. Find

the position, size and nature of the image.

312741 (OR)

fge--ge e o 71 AU € 7 39 1T BT BRO g9l W adrey |

What is meant by Mvopia ? Write the causes and correction of this defect.

24, (@)
(=)
25 (&)
&

26, ()

qateet & foheal €7 ofoid BTt & A ey | 1

Nanie iny two abrotic components ot environment,

=TS FAAdT Y ST 4T A9 & ° TR0 G TS | 2

What do vou mean by Nuclear fusion ? Expluin with example,

[

ARG SO R T P IETERY AiRd W |
What is homologous series 7 Explain with an example.
T YT 9T ¥ Y YIS TRl [ied THsiEd | 2

What 1 Estenfication 7 Explain with chemical equation.
1

Ui DT 9T U SO0 @ M ERaY, O ARG AT uY 5g argrer # aRll and) # I

Name a metal and a non-metal found in Hiquid stale at normal temperature.

ST Al @ Gy TR Bl SeeRg BT <o W@ BT 5 arafa ARt wi
Neivie, S=a gal ST 8 7 3
Mention the general properties of lonic compounds and ¢larify that why do ionic compounds have
high meltine points,

T (OR)

ol ayl FIRAUA H agl SR 2 7 f® & ot @ 9o od fRas & I €l ared
wriraferes arfarfmar oy 3
What is the difference between roasting and calcination 7 Write the chemical reaction that takes

slice Juring roustinge wird caleination of zine ores.
o) =

Fe s 4 syafed gen suafaa gered o) gmas AR -
ldentify the substance that 15 oxidised and reduced in the following reaction -
MuO .+ 4HCT —— MnCl, + 2110 1 CL
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27, (F) @R T H# gur FH 9rad FE g g 7 ]
Where does the digestion of fat takes place tn our body ?
(@) (et 0y & SIga [aTa <0 9 S 91 I 9T 7 1
What will happen to a plant if its xylem is removed ?

() PSTET TET HHST AT DI TF—Uew IAIEIT ThR THHTSY | )
1'xplain analogous and homelogous organs with one example each.
28, R sy afger v H oET @IRE -
[n the given circuit diagram, caleulate —
(i) v yiRgs A waied fgd ax 1%
The current flowing through each resistor
(iiy 9fRaer &1 ge gy 172

The total resistance of the circunt o
(i) TRwer ¥ wared el faggd U () ® 1

The total current in the circuit

29 () gIfFT @ aimged e feran | 2

State Flemng's lefthand rule.

(@) wegrad} (T Herm fe gRT # &) ofaR wgy 2
Give two differences between alternating current and direct current.
s12qdl (OR)
() ford amiRRer w19 T Tarer el P oFIeT Ben T YA Bl B 7 2

Why docs the sky appear dark instead of blue to an astronaut 7
(@) el 419 ¥ 1.50 STAGOATE & Bid S FI¥ PIAT S DT F qDME @i i @i §97, i a1y
g1l DY et 3 ¢ 108 W T 2
[ight enters from air to glass having refractive index 1.30. What will be the speed of light in
glass 1f the speed of light in airis 3 < 10° ms™.

]

. T U TS W WY A E @ T "5 § 7 T BIfAT |
What 1s the importance of forest as a resource ? Clarify.
(3) W GART W @dr AW T 2 wid wwo ® O FEN B dTel &1 WRORETd Gl
43139 | 2
What do veu mean by water harvesting ? Write two traditional systems of water conservation.
31TAT (OR)

() yutmen @ gEe @ i @ WER @ CRT¥ A aw wEe € 7 wey 4§ faew) 3
What do you mean by the three *R's to save the envirenment 7 Write in brief.
R4 spgar of fows wefa qreeR e feRe el @ faw fear wirar & @ 1

For which specilic work, the Amrita Devi Bishnot national award is given 7
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